2007-2002 7TH GRADE CONTEST SOLUTIONS Answers
30. Add 1 to each perfect square < 200 to get 2, 5, 10, 17, 26, 37, 50, 65, | 30.
82, 101, 122, 145, 170, 197. The 6 primes are 2, 5, 17, 37, 101, 197. B
A) 5 B) 6 C 9 D) 14
31. Triple in 18 yrs = double in half that, 9 years, Pat’s current age. |31.
A) 9 years B) 12years C) 18 years D) 24 years C
ian i landl (141222 222 |32
32. Medmnlstheaverageof4and5 (4+5). w2 1 o
1 1 1 9
Ns Bz 935 Dy §
33. In a poll of more than 1 million 33.
people, exactly 16%% = 1/6 felt
run-down. The only choice that’s C
divisible by 6 is choice C.
A)2 B4 Ce6 D)8
_3_5 = ééé = i = 34‘
34, 4tcrln—‘]=.100m7 o0 ™ B
A) 5 B) % O =
35. WBI =9 =3=(v3)% 35.
A) V3 B) 3 Q) 3v3 D) 9 A
36. The reciprocal of 1 is 1. The least possible such sum is 1+1 = 2. [ 36.
A) 25 B) 2 Q1 D) 0 B
37. The sum of any 3 consecutive integers is divisible by 3. Only 37.
choice B is divisible by 3. The side-lengths would be 666, 667, 668. B
A) 2000 B) 2001 C) 2002 D) 2003
1.1y = (I DIy o (Il L)(ly o 1 1 |38
38 (7x3)+ @3 = (7x3)x(3x3) = (7%3%2(3) = x5 A
1 1
A) 57 Bz O3 D)36
39. In 1 hour, I drive 40 km. If 39.
I want to drive 60 km in a
half-hour, I must triple
my speed to 120 km/hr. SR C
A) 60 km/hr B) 80 km/hr s
C) 120 km/hr D) 160 km/hr
40. The 30 even factors are Z“XSb,a =1,2,3,4,5 while b=0,1,2,3,4,5. |40.
D

A) 5 B) 6 C) 25 D) 30

The end of the contest @&
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Contest Information

m Solutions Turn the page for detailed contest solutions (written in the
question boxes) and letter answers (written in the Answers column to
the right of each question).

® Scores Please remember that this is a contest, not a test—and there is no
“passing” or “failing” score. Few students score as high as 30 points
(75% correct). Students with half that, 15 points, deserve commendation!

m  Answers & Rating Scale Turn to page 138 for the letter answers to
each question and the rating scale for this contest.
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